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What type of angle measures more Lhan %0 degrees and lews than 180 degrees?
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A Acute
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0. Right
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Twn angles are complementary One angle measures {4x = 10) degrees. The other angle

mestures (3x = 15) degrees. Which equation should you use to solve for the measures of

the angles?

A (42— 10) + {Ir=15) = 180
B. 180 - {4z — 10} — (32 = 15)
C 90+ (4x = 10) +(3x - 15)

& (4r=-10) +(1r = 15} = 90

The Giflerence betwesn the medsure of 2 supplementary agles is 50°. Find the measure of __

the larper angle.
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Urpreys (he angle o degress, minutes and seconds, Round seconds to whale unimy.
Bl
@b_t

4 4t

- AL
B, 31923

AF e g

\_\\\\\

Earerss s decimal degree to degrees, milnutes anad secorls knom 75.25°

\qm._u.n.
L i LT
C 7515 60°

[ i

gt .-
" L
=

a el t

75.25 (5 5]

Tm‘mﬁ 15° o7

Scanned by CamScanner



mll.ral._ .E._ yrEEY - ==t 5 e i " — : - ......-___._ = =
<goc AT =027
: Hame an angle supplementary 1o £80C .\.\\..\
A £BOC n\rt__ \ )
# 2BOE o g i
Assessment R \
O £B0A

Mathematics. |estonl}

6.1 \?@N& ad

2] el o

The tomulement ol an angle s 25", winat i the
r i Lhe measure of the angle? MName an acule angle in the given dlagram A5
T 96 -2 Hmm\mr A LTRW ok — YSo8p = log a
C o155 - B cQiVeg — 45+ 45 = 90 H -
T
B 165 C £5AT pf —p Nﬂ,.rh.n_._.-.#.mu.....u.m ks \*\ﬂy
D. LWk ., 4 5

Scanned by CamScanner



g e

I] -

T “ n.ﬂ.l.-l-\\.ﬂll.

a the nearest thousandth

Tw complementary angies Meare ¥ and 657, Hew mamy

degrees are thera in X7
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C 15
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D. B7.484°

Convert BY926°3" to @ dec imal degree and round t
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A I9045°
B e
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rranutes and seconds 40.78"

Convert the anghe 10 degfee, manules and peconds form, Round th

vecond 181.87°
A 18F4T12*
B 18F4FE"
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Mathematics: Lesson 13
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Find the angle of smallest possibie positive measure coterminal with the angle —295°

A -115°
B, 295°
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Answer the following trigonametric function sin 8 =
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Assessment

Phyesacs: Lesson3d
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From the figure groen find the value of sinl  — Q }u c
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From the fgure given, find the value of eatd = a 5 —
e b

Which ratia represents csed in the right triangle shown belew?
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A& cosClsin
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tan# and cot @ are negative i the and guadrants.
fr 2nd and 41h nu_hum Tl.HN.! < tasn &
B, 2nd and 3rd m\\.\_ -~ D\Lr.i\ﬁ_.nh.r
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Mathematics: Llesson 1%
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19Nty Uhar quadrant ol wngle 0 that satsfies the guen _..,n...&_n..u_._......__.__m.u.n_....n..p_._n =0 Find sind, grven that os s = - anad § & guadrant iy
(2o B G e SR
Hn m —-— r =g
# Lo 2 aF L e o G “ s
C Qm 8 sin0 =t = x=4, r=s5 . Y07
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Cuestion 4

L= i

h....n.__.._..-..t ._____._n__m..h.__-

IF § is 3 poutive, acute sngle and sin 28 = r__ then {cos 8 + sind) ¥ = 7 From the figure, the value of cot £ + cosec Cis

Al noyted s ..L.__ il
ha.ﬁﬂ.ﬂmﬂ ﬂl“q.-__.__“ Em

B 24:
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R c=by

) 2
> (cA8+31NE) = (c38)+ 25/mecsa  °F
n.__..l.\b.mx al.

arﬁh._h&_..w
= 5in°G +cos G+ 25858

15 the following equation correct? 2 sin(z)  + 2 coyx] =3

.ln._.m.n . 2 '
2SmX 4+ res hmu\uﬁff&wn_ 0

B Mo
o .qu......._
ed 2o =21 =2 o

Cosin’0

. cov'l

1- {zanti 4 cosf) = 3
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B sink posh

BE ¥x secop =1

Co=nA

1 Cige s R PIE = o

_ w0 5e€©
sin?ff + cos8 h._
A, cosh
B sinB
A et
D and
.5
T
(516 +(#8)
M
= Sin 8 4 &S “_.m.m_ = H
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Assessment

Mathematlcs: Lesson 30

e

Which of the equatons tan be used to find the value of © n the diagram gren?
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\%. All choices can bhe

A anls =l r\\
@En;nm U.A.

D osanfé =7 g

AU M = 2 V5 222
fe |}

T & = m.»qu
i

38 < nhhlmx_

Fnd the value of cos{ # ] 10 the nearest tenth,
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Gy
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Without vsing 3 calculator gree the exact triganometne functson value EE Find the exact value of cos 607 + sin 30° = np:+m.nV._.
d inatar B
eraminaig co w2y | party plisi— o RS R T S R
A V3 - B} <
. ..-.-.in\rvﬂ.ﬁfhl...ﬁ. h‘.u.m_.ﬁu 1 .-.nu—EniF-HI gz .___...u.l
g i = s 27 L
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nz 4

3 3 =l |
(ool o5 81 fos i oo

erfwl__.l._.___.llh'.l M.#v._.ﬂ Il. __..._r._.r..- h\ m .W Eﬁﬁh&ha

Fend sind ilcosd = - and & is o quadeant W, Write in terms of the cofunction of a complementary angle, tan 577

2 W .1.. ._ul )
—_— = 1 - o r % B |
\l._ﬂ. ﬁ-\_..“ _ﬂ.m v 3 ..mu & k.n:wu nu__i..titn.{_rl. ‘-.I..-.__iib-.—
g M P o T T O s kL Z5 ) Hur. avsls g dsllws i

5 ) Ccociar + Sin B=cCas(Qo -~ B)

co=2 T
F L / n3i ?mmr t
@ G- ﬁanﬁmauqaﬁ.an-&

‘ A s ¥ VE =t (9657
M6 =T = 22 ﬂnn“nﬁmwwb mvm:muﬁuﬁmqunmb
g = Gufgo-6)
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Libies T fiod an angle § that makes the statement true. Wse the colunction identities to find an angle & that makes the stutement true.

Lize the cobumlson

sinl 38 — 17 = cos(d + 43%) - = e tanfl = cot{30° + 58) . _}ﬁ L.
A He6 quﬂ\kh.\vfﬂwur\?u_.lﬁlnﬁil} A E=0 u._....w..n_..n_H .
& § =90 mwnﬂ.m.,\...—.ﬂ.._...__tr\.: B 6=75" .Wq - .w.ml..‘..lmm. -
L &6=10" . fI-\“EIMle C &=10° M\m “Q&\U—ﬂ

D =18

\mu_m. nw\m_“-#mug.ﬁ%m.ﬁ.mun

—

= (36 - 17) +(0+43) =To
% 46+2670c =40 =4y & B-

U the eatunction dertities ta find an angle & that makes the stafemanl tre

e & 17 = @28 = 77) = P\\\_. "
S (L0 )+ (26-D)ug

= ek P R) | e

\.\.mi_a_a,. 0 ﬁ._...w.l\w MN_HJ\.A =Cs5C ﬁ%_nqll.xb
2.8 = jo . ﬁﬂnixb
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